[image: ]
[bookmark: _GoBack][image: ]
image1.jpg
Name - ¢
UNIT 13

Homékoom TEAC\-\E&: LESSON 53

V7 Chord—1st, 2nd and 3rd Inversions : S

The V7 chord can also be inverted. Since the V7 chord is a 4-note chord, it can be written in four
different positions: root, 1st inversion, 2nd inversion and 3rd inversion (7th at the bottom).
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In 1st, 2nd and 3rd inversions in close position, the root is always the upper note of the interval of a 2nd.
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§ » Minor Chord Progressions — s s
f | R Because the i, iv and V triads contain all the notes of the harmonic minor scale, they can be used to accompany
% 2 most simple melodies in minor keys. In many chord progressions, the V7 chord is used instead of the V triad.
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;g L To make this minor chord progression sound smoother, the iv chord is moved to the 2nd inversion, and
§ s ] the V (or V7) chord is moved to the 1st inversion.
% ] In the iv chord, the 5th (A) In the V chord, the 3rd (G§) and In the V7 chord, the 3rd (G}), 5th (E)
'}% 3 is moved down an octave. 5th (B) are moved down an octave. and 7th (D) are moved down an octave.
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% 2 Notice there is a common tone between each chord.
% ? Root Position 2nd Inversion  Root Position 1st Inversion Root Position
3 T
0 5th ©—3rd 5th
1 3 i 3td————©-Raot 3rd T Al 3
| , Root O 5th Root sth 5t d;{:\x}c o
1 5 i iva i vE  or v8 i
§ 5 Remember, when a triad is not in root position (close position), the root is always the upper note of the
0 interval of a 4th. When a V7 chord is not in root position (close position), the root is always the upper
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